What word describes a solution that has a higher water concentration.

Ans Hypotonic

Name a white blood cell that makes antibodies

Ans Lymphocyte 

Describe a solution that is hypertonic

Ans One with a lower water concentration

What is the name given to two solutions with equal water concentration?

Ans Isotonic

What happens to a blood cell that is placed in a hypertonic solution?

Ans shrivels up

What happens to a blood cell that is placed in a hypotonic solution?

Ans It burst

What happens to a plant cell that is placed in a hypotonic solution?

Ans It becomes turgid

What happens to a plant cell that is placed in a hypertonic solution?

Ans It becomes plasmolysed

Why do plant cells not burst in a hypotonic solution?

Ans As it has a cell wall

What are cell walls made of?

Ans Cellulose

Name the two components of a plasma membrane.

Ans Proteins and phospholipids

Name the two types of proteins in a plasma membrane.

Ans carrier proteins and protein pores

What does a cell have to provide if it carries out active transport?

Ans Energy (ATP)

Describe osmosis

Ans Water molecules moving from a higher concentration to a lower concentration and passing through a selectively permeable membrane.

When molecules move from a higher concentration to a lower concentration down a concentration gradient it is called?

Ans Diffusion

Name the link words with oxygen

Ans respiration / energy / active transport

What word is always linked to respiration?

Ans energy (ATP)

What type of substance is cellulose?

Ans a carbohydrate

Why is a plasma membrane based on the fluid mosaic model

Ans the phospholipids are always moving and the proteins form a pattern in this bilayer

What organelle is linked to phagocytosis?

Ans lysosomes

Name a cell that uses phagocytosis.

Ans a phagocyte cell

What is the function of lysosome organelles

Ans Contain digestive enzymes

What organelle transports protein in a cell?

Ans Rough endoplasmic reticulum

What organelle transports lipids in a cell?

Ans smooth endoplasmic reticulum

What is the function of the golgi apparatus?

Ans to package substances for secretion

What is the organelle used for aerobic respiration?

Ans mitochondrion

Name the process some cells use to take in liquid.

Ans pinocytosis

What is the link word with respiration?

Ans
energy (chemical)

Why is oxygen needed in aerobic respiration?

Ans As the final hydrogen acceptor

What is the name of stage 1 in respiration?

Ans Glycolysis

What is the name of stage 2 in aerobic respiration?

Ans Kreb’s cycle

What is the name of stage 3 in aerobic respiration?

Ans  Cytochrome system

Which stage of aerobic respiration produces the most ATP?

Ans 
Cytochrome system

What are the end products of glycolysis?

Ans 2ATP + 2pyruvic acids + NADH2

What are the end products of the Kreb Cycle?

Ans
CO2 + NADH2

What are the end products of the cytochrome system?

Ans 36 ATP + H2O

Which organelle is involved in aerobic respiration?

Ans mitochondrion  

Name the two areas in the mitochondrion organelle.

Ans 
liquid matrix + cristae

Where does glycolysis occur?

Ans cytoplasm

Where does the Kreb cycle occur?

Ans liquid matrix of the mitochondrion

Where does the cytochrome system occur?

Ans cristae of the mitochondrion

Name the carbohydrate stored in plant cells.

Ans starch

What must be present in the cell to allow aerobic respiration to occur?

Ans 2ATP + glucose + O2 +

(enzymes)

What would pyruvic acid change into if yeast cells had no oxygen?

Ans 
Alcohol (ethanol) +CO2

What would pyruvic acid change into if your muscle cells run out of oxygen?

Ans Lactic acid

How many ATP molecules are made from 1 molecule of glucose in aerobic respiration?

Ans 38

Name the substances recycled in respiration.

Ans     CoA + NAD+ 

4 carbon compound 

When anaerobic respiration occurs in yeast cell how many molecules of ATP are made from 1 molecule of glucose?

Ans
net gain of 2 ATP’s  

When anaerobic respiration occurs in a muscle cell how many molecules of ATP are made from 1 molecule of glucose?

Ans net gain of 2 ATP’s

If there were no carbohydrates in a cell what would it use as the respiratory substrate?

Ans fatty acids and glycerol

Why is ATP important to any cell?

Ans as it transfers the chemical energy from the substrate to the cell.

Name one process in the cell that needs chemical energy from ATP.

Ans 
active transport /protein synthesis / cell division etc

What is the chemical reaction for phosphorylation

Ans 

ADP + Pi + energy              ATP


Which respiratory substrate contains the most chemical energy per gram?

Ans Lipids (fats)

Name the carbohydrate stored in muscle cells.

Ans glycogen

Describe the shape of DNA

ANS  Double helix

Name the bases in DNA.

ANS  Thymine Guanine Cytosine Adenine

Where are proteins synthesised?

ANS  Ribosomes

What is the first thing to happen at the start of protein synthesis?

ANS  DNA unzips

What is needed for DNA to unzip?

ANS  ATP and enzymes

What are the building blocks of nucleic acids?

ANS nucleotides

Name the two types of proteins.

ANS Fibrous and globular

Name one type of globular protein.

Ans Enzymes / hormones / antibodies etc

Name one type of fibrous proteins.

ANS elastin/ collagin/ actin myosin

How do nucleotides join together?

ANS  From the phosphate to the sugar.

What are the differences between DNA and RNA?

ANS
DNA 2 strand RNA 1

DNA has deoxyribose sugar and RNA ribose 

DNA has thymine and RNA uracil

What is the function of tRNA?

ANS To pick up a specific amino acid and transfer it to the mRNA on the ribosome

Name the triplet  code in  mRNA.

ANS  codons

Name the triplet  code in tRNA

ANS
anticodons

What bond holds the bases together in DNA?

ANS
weak hydrogen bonds

Name the complementary RNA bases to the DNA bases

ANS DNA
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When mRNA leaves the nucleus what organelle does it attach to?

ANS Ribosome

What type of bond joins amino acids together?

ANS Peptide bonds

After proteins are synthesised on the ribosomes list the organelles involved in secreting it.

ANS  ribosomes  to RER to golgi bodies to vesicles 

What is the function of the golgi apparatus?

ANS to package substances for secretion

Name the 3 parts to a nucleotide.

ANS phosphate, sugar and base

If the DNA triplet code is ATC what would the codon be and the anticodon

ANS UAG = codon

AUC = anticodon

Name the 4 photosynthetic pigments found in leaves.

ANS
chlorophyll a, chlorophyll b, xanthophyll, carotene

Where are the photosynthetic pigments stored?

ANS grana of the chloroplasts

Which wavelengths of light from the visible spectrum does chlorophyll absorb?

ANS
red and blue light

What do plants gain by having the accessory pigments.

ANS They can absorb some of the other wavelengths of light in the visible spectrum so the plant can photosynthesise more.

What is the light energy changed into?

ANS chemical energy

Why does the plant need the light energy?

ANS To split water into hydrogen and oxygen and make ATP.

What is the splitting of water called?

ANS Photolysis

When water is split into hydrogen and oxygen what happens to them?

ANS  Hydrogen is picked up by the hydrogen carrier NADP to form NADPH2 and oxygen diffuses out of the leaf.

Why is chlorophyll a, important to the plant?

ANS  As the other pigments pass their absorbed energy onto chlorophyll a.

What is the first stage of photosynthesis called ?

ANS The light dependent stage

Where in a leaf cell does the light dependent stage occur?

ANS Grana (Granum)

Explain photophosphorylation

ANS Light energy is changed into chemical energy to make ATP

What happens to the hydrogen from photolysis?

ANS Picked up by NADP to form NADPH2

Where does NADPH2 go?

ANS
From the grana to the stroma

Why does the cell want hydrogen?

ANS to reduce CO2 to glucose

What happens to the O2 by product of the light dependent stage?

ANS It diffuses out of the cell and leaf to the atmosphere ( via stomata)

What is the ATP, from the light dependent stage, used for?

ANS provides the chemical energy to reduce CO2 to glucose

What is the name of the second stage of photosynthesis?

ANS  Calvin's cycle

Where does the Calvin cycle occur?

ANS In the stroma of the chloroplasts

Which stage of photosynthesis is enzyme controlled?

ANS Calvin's cycle 

What substance in the stroma fixes CO2

ANS
RUBP

How many carbons does RUBP have?

ANS 5 carbons

How many molecules of CO2 are fixed in one cycle?

 ANS 3 CO2 are picked up by 3 RUBP

After the CO2 is fixed by the RUBP what molecule does it become?

ANS
GP

How many GP 's are made in one cycle?

ANS 6 GP's

Where do the products of the light dependent stage enter the Calvin's cycle?

ANS  After the GP's are made

What two substances should be in the Calvin cycle circle?

ANS 
RUBP and GP 

How many carbons does GP have?

ANS 
3 carbons

What substance should leave the Calvin cycle?

ANS Glucose

How many CO2 need to be fixed by RUBP to make 1 molecule of glucose?

ANS 6 CO2 (3 each cycle)

How many times does the Calvin cycle have to occur to make 1 molecule of glucose?

ANS  the Calvin cycle needs to occur twice.

What can happen to the glucose once it has been synthesised?

ANS Used for respiration / stored as starch/ made into cellulose (for cell walls)

What other major biological molecules can the glucose be changed into by the plant cell?

ANS Proteins / Lipids / nucleic acids

Name the two parts to a virus.

ANS protein coat + DNA or RNA

Describe the nature of a virus.

ANS very small and non cellular

needs to invade a host cell to reproduce

When a virus attaches to host cell what happens next?

ANS
The DNA enters the host cell and takes over the cell's resources.

After the viral DNA has entered the host cell what is the first thing that happens?

ANS The DNA makes copies of its self using the host cell's resources.

What will the viral DNA need to use from the host cell to make copies of itself

ANS ATP / Enzymes / DNA nucleotides / 

After the viral DNA has made many copies what happens next?

ANS The viral protein coats are synthesised.

To make the viral protein coats what resources will the host cell provide?

ANS ATP / Enzymes / amino acids/

RNA nucleotides / t RNA

After the viral DNA has replicated and the protein coats are synthesised what happens next?

ANS viruses are assembled 

What happens at lysis of the host cell?

ANS The new viruses rupture the host cell and leave.

What substance do lymphocyte cells produce to help destroy invaders?

ANS a specific antibody

Why are antibodies specific?

ANS As they attach to a specific antigen on the surface of the invader (bacteria/virus)

What type of substance is an antibody?

ANS protein (globular)

What organelle is involved in phagocytosis?

ANS lysosomes 

What is the function of lysosomes in phagocytosis?

ANS contains the digestive enzymes

that will digest the engulfed invader 

What do patients receive when they have an organ transplant?

ANS Suppressor drugs to reduce the chance of rejection 

What do phagocyte cells do when a bacteria enters the blood stream.

ANS the phagocyte cell engulfs the bacteria into a food vacuole
